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Victim:

1. Solve the trigonometric equation cos26 = ——\/2—5 for the interval [0,27:] . In addition to providing an algebraic solution,

give a graphical representation of the equation and show the solutions as angles of rotation.

Algebraic Solution (5 APP) Graphical Representation (3 KU) Angles of Roration (3 KU)
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2. Given below is the graph of the function p(x)=2x*-9x" —11x* +30x . Determine each of the following. (S KU)
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(a) End Behaviours

As x>, y—> OO

As x—>-o, y— 00

(b) Number of Turning Points
(Mark the turning points on the graph)
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3. Given the polynomial function g (x)=-3x" —9x* +4x” +7x -2, determine each of the following. (5 APP)
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4. Solve the equation —6x* +11x=-x"+6 (6 APP)
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Explain why the polynomial equation

2x'° +13x® + 5x° + x* +19x% +1=0 has no real
roots. In addition, sketch a possible graph of the
polynomial function

F(R)=2x" +132* £ 55" F ¢ #1957 4.1,
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